
Reduced Contribution Calculation is as follows:
Step 1: 
County’s Commitment 
minus County’s 20% Match of Improvements Costs  
= Remaining Amount of Local Match to Reduce Cities Local 
Match 

Step 2:
Percentage share of total improvement costs by municipality 
multiplied by County’s Remaining Amount of Local Match
 = County Contribution of Municipalities Total Match 

Step 3:
20% Required Local Match by City
minus County Contribution of Municipalities Total Match
= Cities Contribution of Local Match

Step 4:
Cities Contribution of Local Match  
plus 20% Contingency 
 = Total Amount for Budgets and Funding Agreements by City 
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